
 

デジタル回路 ワークシート No.5a 
 
１．次の論理式を簡単化しなさい。（復習） 
 
(1) (𝐴𝐴 + 𝐵𝐵�) ∙ (𝐴𝐴 + 𝐵𝐵) = 
 
 
 
(2) (𝐴𝐴 + 𝐵𝐵�) ∙ (�̅�𝐴 + 𝐵𝐵�) = 
 
 
 
(3) 𝐴𝐴 + 𝐴𝐴 ∙ 𝐵𝐵� + 𝐴𝐴 ∙ 𝐵𝐵 ∙ 𝐶𝐶̅ = 
 
 
 
(4) (𝐴𝐴 + 𝐵𝐵�) ∙ (𝐵𝐵 + 𝐶𝐶̅) = 
 
 
 
(5) (𝐴𝐴 + 𝐵𝐵� + 𝐶𝐶̅) ∙ (𝐴𝐴 + 𝐵𝐵� + 𝐶𝐶̅) = 
 
 
 
(6) (𝐴𝐴 + 𝐵𝐵 ∙ 𝐶𝐶������) ∙ (𝐴𝐴 + 𝐵𝐵 ∙ 𝐶𝐶) = 
 
 
 
 
 



 

２．次の論理式を回路図にしなさい （回路図の基本） 
 
(1) 𝐴𝐴 + 𝐵𝐵 
 
 
(2) 𝐴𝐴 ∙ 𝐵𝐵 
 
 
(3) �̅�𝐴 ∙ 𝐵𝐵� 
 
 
(4) �̅�𝐴 + 𝐵𝐵� 
 
 
(5) 𝐴𝐴 ∙ 𝐵𝐵������ 
 
 
(6) 𝐴𝐴 + 𝐵𝐵�������� 
 
 
(7) �̅�𝐴 ∙ 𝐵𝐵 + 𝐶𝐶 
 
 
 
(8) �̅�𝐴 ∙ (𝐵𝐵 + 𝐶𝐶) 
 


